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1 4/H 12|8 |B=% 48~3A% Gik-3=1 2,515,142 1,703,717|2021. 4§ ~2022. 3R
HA&# 2,515,142 1,703,717
2| 48 2|8 |[AVIAR HEMRE 2,335 50% 1,168
3| 4|A 718 |[AVUrR HERRE 1,000 50% 500
4 4|8 9|8 |AVUIAR HEMRE 1,000/  50% 500
5 4R 118 |[AVUIAL HERARE 2,683 50% 1,342
6| 4/ A 188 |AVULAE HEMEE 2,610 50% 1,305
7 4R 258 |AVULR HERARE 2,307| 50% 1,154
8 4/AH 308 |AVULR HEMEE 2,444| 50% 1,222
9 5/ A 8|8 |[AVULAL HERARE 2,742  50% 1,371
10| 5|8 148 |[AVUIAR HEMEE 2,394| 50% 1,197
11 5 A 2008 |AVULR HERARE 2,759| 50% 1,380
12| 5|8 26|83 |AVULR REMEE 2,371  50% 1,186
13 6/ A 3|8 |[AVULAR HERARE 2,721 50% 1,361
14| 6|8 98 [AVULH REMERE 2,645 50% 1,323
15 6 A 14|18 |[AVIAL HERARE 2,324 50% 1,162
16| 6|8 17|18 AV REMERE 2,385 50% 1,193
17 6 A 27|18 |AVUR RERARE 2,415  50% 1,208
18  7/A 48 [AVULR REMERE 2,426 50% 1,213
19 7/ A 10(8 |AVULAL HERARE 2,647 50% 1,324
200 7/|A 168 |[AVULAL HEMARE 2,734| 50% 1,367
21 7\ A 21|18 AV HERERE 2,849 50% 1,425
22| 7|R 258 |AVUUR HEMARE 2,625 50% 1,313
23| 7|A 308 |[AVULR HERERE 2,469 50% 1,235
24| 8|A 2|8 |[AVIUAR HEHARE 2,403| 50% 1,202
25| 8|A 6|8 |[AVULAL HERERE 2,496| 50% 1,248
26| 8|A 118 |[AVU2 HEHARE 2,620| 50% 1,310
27| 8|A 18|8 |AVUIAL RERERE 2,775| 50% 1,388




28| 8|A 23|18 |AVULR HEREE 2,767| 50% 1,384
29 8|A 28/8 |[AVUAK HERRE 2,790| 50% 1,395
30 9/A 3|8 |[AVUAR HEREE 2,527 50% 1,264
31 9 A 8|8 [AVIULK HERRE 2,560 50% 1,280
32| 9|A 13|18 |[AVUIAE HEMRE 2,728 50% 1,364
33 9|A 19/8 |[AVUIR HERRE 2,778| 50% 1,389
34| 9|A 23|18 |AVULR HEMRE 2,418 50% 1,209
35/ 9|A 308 |AVURK HERRE 2,852| 50% 1,426
36| 10| H 4|8 |[AVIAR HEMRE 2,496| 50% 1,248
37| 10|A 9|8 AV HERRE 2,899 50% 1,450
38| 10|H 158 |[AVUAE HEMEE 2,595 50% 1,298
39 10|A 2008 |AVULR HERARE 2,932 50% 1,466
40| 10|H 25|83 |AVULR REMEE 3,068 50% 1,534
41| 10|A 318 AV HERARE 2,839 50% 1,420
42| 11|H 5|8 |[HVULK REMEE 2,541 50% 1,271
43/ 11|A 10(8 |[AVULAL HERARE 2,516 50% 1,258
44| 11|H 148 |[AVUAR REMEE 2,995 50% 1,498
45 11|A 208 |AVULR HERARE 2,619 50% 1,310
46| 11/H 308 |AVvUK REMERE 2,970, 50% 1,485
47| 12|R 6|8 |[AVULAL HERARE 2,841 50% 1,421
48| 12|H "B [AvUrk REMERE 2,905 50% 1,453
49\ 12|R 1718 |[AVIIAL HERARE 2,640 50% 1,320
50 12/H 23|18 AV REMERE 3,201  50% 1,601
511 12|A 298 AV HERARE 2,948| 50% 1,474
52|  1|H 6/ 8 [AVULH REMERE 2,608 50% 1,304
53 1A 13|18 |[AVULAL HERARE 3,154 50% 1,577
54| 1A 2008 |AVUUR HEMARE 2,496 50% 1,248
55| 2|A 118 |AVvIoR RERERE 2,906| 50% 1,453
56| 2|A 9|8 |AVULA HEMARE 4669 50% 2,335
57| 2|A 118 |[AVUIAE RERERE 2,478 50% 1,239
58/ 2|A 1718 |[AVULA HEHARE 2,934 50% 1,467
59| 2|A 23|18 |AVULR RERERE 2,722 50% 1,361
60| 2|A 28|80 |AVUUR HEHARE 2,999 50% 1,500
61 3| A 68 |[AVILR RERERE 2,000) 50% 1,000




62| 3|AH 9|8 |[HAVILK HEMRE 2,720|  50% 1,360
63| 3|A 14|18 (AVIRK REMRE 3,024 50% 1512
64| 3R 188 | HVIURK HEMEE 2,715|  50% 1,358
65| 3/H 24|18 |AVIIAK HEMARE 2,988 50% 1,494
66| 3|H 29|8 |[AVIA REMRE 2,756 50% 1,378
172,773 86,401
REFRE 2,687,915 1,790,118
67| 5/H 27|18 |=2—RERENLIT [REEL$RE 303,600, 97% 294,492 | A4 x 4P 1500088 (H5—)
68 9/ H 16|80 |=21—X{EREN.38 TN 152,625 95% 144,994|A4 X 2P 15,000%8 (H5—)
69| 11/ H 16| B |=21—X4ERkENo.39 [REEIL$RE 305,250, 97% 296,093 |A4 X 4P 1500083(H5—)
70| 2|AR 16| B |Z21—X e ENo.40 REELHRE 150,975 92% 138,897|A4 X 2P 13,000&8(H5—)
912,450 874,476
LHE 912,450 874,476
71 12|R 22|18 |[MERLBRIESH BERBAE 6,000/ 100% 6,000(2020. 4~2021. 38 %
EHEAR 6,000 6,000
72| 4R 308 |EHBAMEEN4A EXRTE 70,000 50% 35,000
73| 5|A 3118 | EHMEEMNSA EHBME 70,000 50% 35,000
74| 6|R 0|B EHEMEEM6A EBME 70,000 50% 35,000
75|  7|R 3118 | EHMEENTA EHME 70,000 50% 35,000
76| 8|A 31|B |EHMEEMSA EHmME 70,000 50% 35,000
771 9/A 0|8 |EHEMEEMNIA EHME 70,000 33% 23,100
78| 10|A 31B |E=HAMEEM10A EHmME 70,000 33% 23,100
79 11/RA 0|8 EHEMEENNA EHBME 70,000 50% 35,000




80, 12|/A 31|18 |EHEMEEHI12A EBHME 70,000/ 50% 35,000

81 118 318 |EHEFAEERA EHTE 70,000/ 50% 35,000

82 2\R 28|80 |EHEEEHIA EHBME 70,000/ 50% 35,000

83 38 318 |EHEFFEERIA EHTE 70,000/ 50% 35,000

840,000 396,200

84| 4|A 26|H |#EHEEIA EHE 3,660 33% 1,208

85 5/ A 25|80 |#EHEE4A EHBE 3481 33% 1,149

8| 6|8 | 25/B |HE®mEESH EHE 4312 33% 1423 %ﬁjﬂiﬂ‘“"xw“:w”

87 7.8 26|80 |#EHEETA EKE 3429 33% 1,132|3,684A 3 LY
88| 8|A 25| |[#EHEESA E 2,560 33% 845|3,108 3 $ALY
89 9/ A 27|18 |EHEEIA EKE 2,557 33% 844|3,105A ALY
90| 10|H 25| |#EHEE6A E 2,347 33% 775/2,895 X LY
91| 11| A 258 |[EFHEIEI0R EHKE 2,334|  33% 770/2,882M 3 ALY
92| 12|H 27\8 |#EHEEA E 2574 33% 849(3,112M ALY
93 1A 25|08 |#EFHEE12AH EKE 2,327  33% 768(2,875M X #h LY
94| 2|R 25| |(EHEE1A e 2,323|  33% 767(2,871H LY
95 318 25|08 |#EFHEE2AR EHE 2,396 33% 791|2,944M LN

34,300 11,321

=KE 34,300 11,321

&5t 4,480,665 3,078,115

B 1,121,885




